Split Strategy Subtraction

Show how you got your answer using the split strategy. The first one has been
done for you.

a) 56 - 33 = b) 49 - 27 =
50 - 30 = 20 =
6-3=3 -
20 + 3 = 23 ¥ -
56 - 33 = 23

49 - 27 =___

c) 35-14 = d) 58 -23 =

+ = + =
35— 14 =___ 58 -23=___
e) 66— 43 = f) 29-18 =
+ = + =
66 - 43 = 29-18=___




Split Strategy Subtraction

Show how you got your answer using the split strategy. The first one has been
done for you.

a) 77 - 44 = b) 81 - 41 =
+ = + =
77 - 44 = 81-41=___
c) 97 - 62 = d) 87 - 34 =
+ = + =
97 - 62 = ___ 87 - 34 =___
e) 58 - 55 = f) 94-82 =
+ = + =
58 -55=_ 94 - 82 = ___




Split Strategy Subtraction

Show how you got your answer using the split strategy. The first one has been
done for you.

a) 79 -32 = b) 87 -63 =
+ = + =
79-32=___ 87 -63=___
€) 144 - 113 = d) 239 - 127 =
+ + = + + =
144 - 113 = 239 - 127 =
e) 346 - 222 = f) 397 - 144 =
+ + = + + =
346 - 222 = 397 - 144 =
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Split Strategy Subtraction Answers

Show how you got your answer using the split strategy. The first one has been

done for you.

a) 56 - 33 =
50-30=20
6-3=3
20 + 3 =23
56 - 33 =23

c) 35-14 =
30-10=20
5-4=1
20+ 1=21
35 - 14 =21

e) 66— 43 =
60 -40 =20
6-3=3
20+ 3 =23
66 — 43 = 23

b)

d)

f)

L9 - 27 =
40 - 20 = 20
9-7=2
20 + 2 = 22

49 - 27 = 22

58 - 23 =
50-20=30
8-3=5
30+5=35

58 - 23 =35

29 - 18 =
20-10=10
9-8=1
10+1=11

29 -18 = 11
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Split Strategy Subtraction

Show how you got your answer using the split strategy. The first one has been

done for you.

a) 77 - 44 =
70 - 40 = 30
7-4=3
30 +3 =33

77 - 44 = 33

c) 97 -62 =
90 - 60 = 30
7-2=5
30+ 5 =35

97 - 62 = 35

e) 58 -55 =
50-50=0
8-5=3
0+3=3

58 -55 =3

b)

d)

f)

81 - 41 =
80 - 40 = 40
1-1=0

40 + 0 = 40

81 - 41 = 40

87 - 34 =
80 - 30 = 50
7-4=3

50 + 3 =53

87 -34 =53

94 - 82 =
90 - 80 = 10
4-2=2
10+ 2 =12

94 - 82 = 12
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Split Strategy Subtraction

Show how you got your answer using the split strategy. The first one has been
done for you.

a) 79 - 32 =

70 - 30 = 40
9-2=7
40 + 7 = 47

719 - 32 = 47

144 - 113 =
100 - 100 = 0
40 - 10 = 30
4-3=1
0+30+1-=31

144 - 113 = 31

346 - 222
300 - 200 = 100
40 - 20 = 20
6-2=4

100 + 20 + 4 = 124

346 - 222 = 124

b)

d)

f)

87 - 63 =
80 - 60 = 20
7-3=4

20 + 4 = 24

87 - 63 = 24

239 - 127 =

200 - 100 = 100
30-20=10
9-7=2

100 + 10 + 2 = 112

239 - 127 = 112

397 - 144 =

300 - 100 = 200
90 - 40 = 50
7-4=3

200 + 50 + 3 = 253

397 - 144 = 253
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